SR 5 )

Register Number

PART - 111
Qunmeflwer / ECONOMICS

(50D wHmb hdle eufl / Tamil & English Version)

&e 2jena] : 3.00 wewfl GHyLd ] [ Quorgs wHUGLETEET : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

Sdleyenrset : (1) Soabg elamss@yn sflurs uHaurd e dTeTHT ETETLISMEN
glluriggé Gerarara)w. asnudele Ganullmudea, ons
sansTaRiiLTeTALD 2 L anqwnss Qgfeilssa).

2) B deg sGUY ew@amar LLHGCWL TWSHMSDHEGWD
21g. 565y QausHEh LweauH55 GCauam(Bid. ULMRIGET aUenfeudn (@
Quenéled LwWeTL([HSSaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@g) - 1/ PART -1
Golly : ()  SiISF) eleméaEnéEn elewaflEsayb. 20x1=20
(i) OQsr@asuu’Barer wmmn doLsaile Wseayb ehLmLw oL amus
Cai0s0586 GO AL allerL wlenamud Cargg) er(payLd.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

Qummenmrgrrdlen sHeng Wi ?

(<S1) U = sripGaidae (<) WOTEED (POAIT
(Q) Lib el (FF) &mied Wrige
Who is the Father of Economics ?

(@) Paul A Samuelson (b) Max Muller

() Adam Smith (d) Karl Marx

SpEsemL eumitiumigen b @mdflene LiweTU L. S{ereileomD

(31) TU,+TU 44 (=) TU,-TU; 4
(@) TU,~TUp 41 (FF) TU,+TUqp g
Marginal Utility is measured by using the formula of :

(@ TU,+TU,44 (b) TU,—-TU,_4
(@ TU,- TUL 41 (d) TU+TU,_4

g CpréE euamenGarHaer :

(=) erdliroenpé sy wemey () Cerigsgs Carser

(@) u@smas CarhHser () Gpirwepé FfleyeaLwene
The indifference curves are :

(a) negatively sloped (b) vertical

(c) horizontal (d) positively sloped

GnAWSTD 2 HUSSE STTL| GTSHET (PQLD SPlutiu@Epg ?
(<1) Gaavau efilg]

() 6985 taray aflaeray 6]

(@) wryb 985 Sietey clleerey 6l

() &w Serey 2 pusSE Carld

The Short-run production is studied through :

(a) Law of Demand

(b) The Laws of Returns to Scale

(c) The Laws of Variable Proportions
(d) Iso-quants



3 3447 (NS)
peiar Qummetwed cusayanisaiian o9 :
(=1) wrmid aldg oerey (<2p) auarihg) Qe efldlgs iemey
(8) Gonps Csd s <emey () wmpr s Sierey
Modern economists have propounded the Law of :

(a) Variable proportions (b) Increasing returns

() Decreasing returns (d) Constant returns

Qurml saflar eApuamer apald A@LGGD eGLIED
QU(THGU TILIT(GLD.

(1) @mdBlever () @eorubd (@) Qwrss (rr) gyme
Revenue received from the sale of products is known as revenue.

(a) marginal (b) profit (c) total revenue  (d) average
Hlenpa] Gy Sigioraflliug)

(1) @55 SeenLd LIGHTL LD (<) <L DU LIGRTLLD
(@) epusumeri LieTLLD | () Caumu@ssuulL LD

Perfect competition assumes .
(b) Luxury goods

(a) Homogenous goods
(d) Differentiated goods

(c) Producer goods

GGz GTaTmIad (M pHmflewwrent sag) > HUSE LKL ESDE 2-@nT
oimsmguied <ifs eflamaub, Qeuefly T ihETgue _ Hiremruiiiug
2 GLD.

(=1) eflenad Gebenad
(8) e@pps a@wud

Dumping refers to practice
the local market and

(=) 215 edlamend
() &wimar eflanaud
of the monopolist charging higher price for his product in
in the foreign market.
(b) higher price

(a) no price
(d) equal price

(c) lower price
[ &iLiys / Turn over
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9.

10.

11.

12,

s 2 flew gaelld Garlum el er@EHTHEeUT :

(1) oL (=) Eaav (@) euréai (m) amrGe
Residual Claimant Theory is propounded by :
(@)  Knight (b) Keynes () Walker (d) Hawley

“waflgeand 2 meurssliul L @ubdriisd whmib Wy e usFehisaid @b
CQuPLLED aumBaurGu Gumed L. eTemy Fadm, WTHEMLWIG ?

(=1) JS. Bléd (<1,) ggmen pmQemeen

(&) 2@ 9rL riage (FF) <Lb evdls

“Quasi-Rent is the income derived from machines and other appliances made by man”.
Whose quote is this ?

(@) J.S. Mill (b) Joan Robinson
(c)  Alfred Marshall (d) Adam Smith

“Sm Gere| ('’ eremLg)

(=) 1975 (<) 1951 (@) 1961 () 1971
“Year of Small Divide’ :
(@) 1975 (b) 1951 () 1961 (d) 1971

2omd phgsramr® s siglivemL Crrésb :
(1) Fops BHuL 6 salqw FwowoTen aueTTas]

(<=, Couermaimento (penGandHmd

(@) oo gl

() Gsmfler wenGarmmid

The basic objective of Sixth Five Year Plan was :

(a) Growth with justice and equity

(b) Agricultural development

(c) Poverty eradication

(d) Industrial development



13.

14.

15.

LPG -&@ erélprar aurgld

(1) mefarn WwinréEse

(<) QumETTSTT eueTiEs]

(@) =fs w50

(FF) &&ET LHOHD e ansaflaLCL ghpSsTLRe
The Arguments against LPG is

(a) Modernization

(b) Economic growth

() More investment

(d) Disparities among people and regions

LSlw QurBETTSTyS Qarearanasuden epann (&SI FGRTEHET :
(1) GST (<) LPG (@) PSU () SEZ

The triple pillars of New Economic Policy are :

(a) GST (b) LPG () PSU (d) SEZ

oasé FTEOUIET LILETLITLTE &(6sULOS-

(1) 2017 marr'rééi (<2p) 2a7E SEISTlY. 6UFE)

(@) Geuened eumiii (/) Cpsem.. iagg
Identify the advantages of rural roads.

(a) Rural development (b) Rural marketing

(c) Rural employment (d) All the above

16. &we s676 G(psser eunidl GeneamriL] S 58l Gandsii L e

(=) 2010 (<=4,) 2009 (@) 1992 (rF) 1991
In which year, SHG Bank Linked programme started ?
(a) 2010 (b) 2009 (c) 1992 (d) 1991

[ $lmLiys / Turn over



3447 (NS) 6

17.  sBPBTL®H eaprl B e husduld hs umkiE udliug :

(=) uanflger (<) Gevarramrens (@) Gamfler geom () B
The largest contribution to GSDP in Tamil Nadu comes from -
(a) Services (b) Agriculture (c) Industry (d) Mining

18. Qseveper ___ erame|d Amp&aliLBEDg).
(1) s flwreller G pmii’
(<) @pSwredler G ymi
(@) sWlpBM iger QL Fmil
(F) Qser @pdwureller QLI gmiL
Chennai is called as :
(a) Detroit of Asia

(b) Detroit of India
(c) Detroit of Tamil Nadu

. (d) Detroit of South India

19. Qsrensui® eremLg eranudlen s GEwduTLTELD.

(<=1) auensui® (=) Ceumium(®
(@) svenal (/F) BOHSHLME
Integration is the reverse process of :

(a) Differentiation (b) Difference

(c) Mixing (d) Amalgamation

20. PPT eramugl

(<31) Perform Point Presentation (<},) Primary Point Presentation

(@) Power Point Presentation (rF) Physicél Point Presentation,

PPT stands for :
(a) Perform Point Presentation

(c) Power Point Presentation

(b) Primary Point Presentation
(d) Physical Point Presentation



@@ULI : GTGE)GUGUJ@_]LI'.) 7 NaTESEHSS e wef&sa)b. edlerm erewr 30 -5
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U@ - 11/ PART - 1I

SL_L_muwns eflenL_wefl&se|b. 7x2=14

Note : Answer any seven questions. Q. No. 30 is compulsory.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

LIGHTLBISET 6reimiTed erenam ? g6 euamssamars GHIUIGHS.
What are goods ? Name the kinds of goods.

FCHTEHE aumarCaraer wpnb Comel QBEDHES erampred ereven ?
State the meaning of Indifference curves and Elasticity of demand.

o eremmis Qsewey, GeuafliLeL wrar Ggwea, erampred Grevres ?
What is implicit and explicit cost ?

alpueer QFea] erempmed eremer ?
What is Selling Cost ?

LETay CTETmITED GTaman ? DSET CUENEEET WTemal ?
What is meant by distribution ? What are its kinds ?

Qsmfe BILUS Gsfley” L Qe amieug) ereumen ?

Give a short note on Sen’s ‘Choice of Technique'.

PQLI - cuenfupi&&aLd.
Define PQLIL

ST LOWILDTESE GTEIMITEd GTEvTen ?
State the meaning of privatization.
gCsab epen eumeLd @Wllys SHLLBE A@ma QsrLmsluLlL
S} T(H L6 6T(LPSIS.

Name any three Poverty Eradication Schemes with year of launching.
@ndHee Qsae wHD GniFHlme o HLGH sambdL LWETUBL aumum(
ereuest ?

What are the formulae for estimating Marginal Cost and Marginal Product ?

[ &mLys / Turn over
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Ll@')‘é,] - III / PART - III

@gﬁ\ﬁq : ETGU)G}.I@U.I@]LB 7 mﬁlemrré;a;@é;@ cdenLwefl&sab. cQenm erewr 40 —é@
SLLmwib efen_weflsseyLb. 7x3=21

Note : Answer any seven questions. Q. No. 40 is compulsory.

31.  vwenumiger &S @UILSET wWiremed ?

What are the important features of Utility ?

32. m&TGeurm réssSlM@E Wriagelen Qadsamdamss S(mHs.

Explain the theory of “Consumer’s Surplus”.

33. Qgmfle waanGeurflen Laflser wreneu ?

What are the functions of Entrepreneur ?

34. &M Léeay 2 pusd iy ereueury eflerssliuBélamg ?

How is Cobb - Douglas Production function expressed ?

35. @meuir whmflewwlen GueLsar wrmal ?

State the features of duopoly.

36. @Li sThiED Georus Cariurd : GO eueys.

Write a note on Risk-bearing Theory of profit.

37. opésl_Laas Camur® GOlLY au@mrs.

State the Doctrine of Trusteeship.



38'

39.

40.

9

slpBr g6 Qgmd Qsrsg g flamas GRUAHS.

Mention six Industry Clusters in Tamil Nadu.

Caflw 20178 B DjepLDLIL GrammTad erea ?

What is National Rural Health Mission ?

wafls Cubur (s GHu@se wreme ?

What are the indicators of Human Development Index ?

u@$l - IV/ PART - IV

GOy : SIS NamésEssED oL walésab.

Note : Answer All the questions.

41.

42.

(1) Quirpenwedlan Semenio LoPHMILD ETOEMEVENLI efleufl&&EaLb.
{6060
(<) Quirmefiwaler o 1 19faysener elaTéES.

(a) Elaborate the Nature and Scope of Economics.
OR

(b) Explain the Sub-Divisions of Economics.

(1) &0 @ Hlee Lwearur_ @ eddew lleTsEs.
NGV
(<) g@@anqéﬂ genmeumilwme Ldiseniy uHl edeufl&EsaL.
(a) Explain the Law of Bqui-Marginal Utility.
OR

(b) Explain the sectoral contribution of Tamil Nadu.

7x5=35

[ Smuus / Turn over
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43. (<1) promflewudd elamea wpmib o HLGH sieramas Sioralliuams eleréEs.
S|606V G

(<) sLamfld eulné Carlur en elemé 5.
(@) Ilustrate Price and Output determination under Monopoly.

OR
(b) Elucidate the Loanable Funds Theory of Interest.

4. (1) Qb QuimersTrsHer cugieurer Sibemsemar efleufEsab.
S{6V60 G|
() @b Hlo 2 ani_anio eopsanar eNaufléseyib.

(@) Explain the strong features of Indian Economy.
OR

(b) Elaborate the Land Tenure Systems in India.

45. (&) Curmermgry wearGampsdd Ay Csmlad Hneuambisaien Lkidear
alleufl&gHayLb.

S(6060F
(=4) LPG -n@ erdlymen smagisamer ellauflésab.
(a) Explain the role of SSls in economic development.

OR
(b) Explain the Arguments against LPG.

46. (=) earps Qummerrsrysdlen LaTser alfsHrorarancy. efleurdl&sayL.
S(6V60G)
() slppriger spmer LMD CUTEGUTSESE Waniomear eferdses.

(@) ‘The features of Rural Economy are peculiar’. Argue.
OR

(b) Explain the Tourism and Transport system in Tamil Nadu.



47.

11 | 3447 (NS))

(1) Qursss Qsaeay 10+Q3% Q=5 aalld AC, AVC, TFC, AFC @pfluaipeps

s& (g &se, L.

|VEVF)

(<) SymoT efflenwts LweTLRSS swaTUTGaaflen X wHmb y WHILG®ES

srews. x+3y=1 womid 3x—2y=14.
(@)  If the total cost =10+Q3, find AC, AVC, TFC, AFC when Q=5.

OR

(b)  Find the value of x and y in the equations by using Cramer’s rule. x+3y=1and

3x—2y=14.

-00o0-



